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1. (10%) f(x)=x*+2x g(x)=x-1
(a) (5%) Determine (f o g)(x)
(b) (5%) Determine (ge f)(x)

2. (10%) Suppose C(x)=0.2x* + 17x+95 is the cost (in dollars) of making x wheel covers.
(a) (5%) What is the fixed cost?
(b) (5%) Find the cost of making the 10th wheel covers.

3. (10%) Find the numbers x at which the following function is discontinuous.
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4. (10%) Determine the derivative for £(x) = Jx [11 +i, ]

5. (10%) Ecologists studying a certain ecological niche determine that overall plant size, B(x), is related to the precipitation

level x by the model:
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(a) (5%) Find the marginal utility of precipitation, B '(x), for this model.
(b) (5%) What is the long-term behavior of this marginal utility function?
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6. (10%) Find all vertical and horizontal asymptotes for f(x)=————.
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7. (10%) Evaluate r 5+ X3
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8. (10%) Evaluate r—&—dx .

9. (10%) Bvaluate [ (Inx)’ dx.

10. (10%) Find a Taylor series for the functionf(x) = 1—’-(— expanded about a=0.
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